
Control Digital Signage

Lectern

Sound Bar  
Fitting Instructions

Interactive

DVC

Phone: 1300 766 997    Fax: 1300 768 997    www.kookaburra.com.auKookaburra
Educational Resources



Fitting the Soundbar

What you should have
Fitting the Soundbar

What you should have

• Soundbar 

• Mounting bracket

• 2 x M4 screws and nuts

• 2 x #8 self tapping screws 

• 2 x Connecting cables

• Philips-head screwdriver (not supplied)

Where to fit the Soundbar

The Soundbar box can be fitted to the lower or upper edge of the panel.

Installing it on the upper edge is unconventional but will allow the sound to project further in a 

classroom, for example.

How to fit the bracket

The edge of the bracket with the six holes is a press-fit between the back cover and the aluminium 

surround. The six holes allow the same bracket to be fitted to 60”, 75” and 85” models.

Remove two M4 screws under the bottom (or top) edge as shown.

Fitting the Soundbar

What you should have

• Soundbar 

• Mounting bracket

• 2 x M4 screws and nuts

• 2 x #8 self tapping screws 

• 2 x Connecting cables

• Philips-head screwdriver (not supplied)

Where to fit the Soundbar

The Soundbar box can be fitted to the lower or upper edge of the panel.

Installing it on the upper edge is unconventional but will allow the sound to project further in a 

classroom, for example.

How to fit the bracket

The edge of the bracket with the six holes is a press-fit between the back cover and the aluminium 

surround. The six holes allow the same bracket to be fitted to 60”, 75” and 85” models.

Remove two M4 screws under the bottom (or top) edge as shown.

• Soundbar 

• Mounting bracket 

• 2 x M4 screws and nuts 

• 2 x #8 self tapping screws 

• 2 x Connecting cables 

• Philips-head screwdriver (not supplied)

Where to fit the Soundbar
The Soundbar box can be fitted to the lower or upper edge of the panel. 

Installing it on the upper edge is unconventional but will allow the sound to project 

further in a classroom, for example.

How to fit the bracket
The edge of the bracket with the six holes is a press-fit between the back cover and the 

aluminium surround. The six holes allow the same bracket to be fitted to 60”, 75” and 85” 

models.

Remove two M4 screws under the bottom (or top) edge as shown.

Fitting the Soundbar

Fitting the Soundbar to the bracket and connecting it to the panel

Starting with a corner, force the lip of the mounting bracket into 

the gap  where the back cover meets the aluminium extrusion that 

forms the surround – see the diagram, which is a view from the 

side. 

It takes about 5 or 10 Kg of force but you will be able to press it in 

about 10mm, into the same gap as the back cover. The edge of the 

back cover will flex slightly to allow this to happen.

Tap the end of the bracket to slide it along so that the holes in the 

extrusion line up with the holes in the lip on the bracket.

Fit the M4 screws removed in the first step. Tighten firmly, but do 

not over-tighten as you could strip the internal thread in the panel. 

If this happens, use the supplied 8# self-tappers to replace them.

Fit the heads of the supplied M4 screws to the keyhole 

slots in the soundbar fixing feet.

Pass the threaded ends of the screws through the 

matching holes in the mounting bracket and fit the two 

M4 nuts. 

Tighten the nuts so that the edge of the soundbar 

engages with the groove in the panel's surround.

Using the supplied cables, connect the soundbar to the 

SPEAKER OUT terminals on the panel.

Fitting the Soundbar

Fitting the Soundbar to the bracket and connecting it to the panel

Starting with a corner, force the lip of the mounting bracket into 

the gap  where the back cover meets the aluminium extrusion that 

forms the surround – see the diagram, which is a view from the 

side. 

It takes about 5 or 10 Kg of force but you will be able to press it in 

about 10mm, into the same gap as the back cover. The edge of the 

back cover will flex slightly to allow this to happen.

Tap the end of the bracket to slide it along so that the holes in the 

extrusion line up with the holes in the lip on the bracket.

Fit the M4 screws removed in the first step. Tighten firmly, but do 

not over-tighten as you could strip the internal thread in the panel. 

If this happens, use the supplied 8# self-tappers to replace them.

Fit the heads of the supplied M4 screws to the keyhole 

slots in the soundbar fixing feet.

Pass the threaded ends of the screws through the 

matching holes in the mounting bracket and fit the two 

M4 nuts. 

Tighten the nuts so that the edge of the soundbar 

engages with the groove in the panel's surround.

Using the supplied cables, connect the soundbar to the 

SPEAKER OUT terminals on the panel.

a view from the side.

It takes about 5 or 10 Kg of force but you will be able to press 

it in about 10mm, into the same gap as the back cover. The 

edge of the back cover will flex slightly to allow this to happen.

Tap the end of the bracket to slide it along so that the holes in 

the extrusion line up with the holes in the lip on the bracket.

Fit the M4 screws removed in the first step. Tighten firmly, but 

do not over-tighten as you could strip the internal thread in the 

panel.

If this happens, use the supplied 8# self-tappers to replace 

them.

Starting with a corner, force the lip of the mounting bracket into the gap where the back 

cover meets the aluminium extrusion that forms the surround – see the diagram, which is 

Fitting the Soundbar to the bracket and  
connecting it to the panel

Fit the heads of the supplied M4 screws to the keyhole 

slots in the soundbar fixing feet.

Pass the threaded ends of the screws through the 

matching holes in the mounting bracket and fit the two 

M4 nuts.

Tighten the nuts so that the edge of the soundbar 

engages with the groove in the panel’s surround.

Using the supplied cables, connect the soundbar to the 

SPEAKER OUT terminals on the panel.

Phone: 1300 766 997    Fax: 1300 768 997    www.kookaburra.com.au



Fitting the Soundbar

What you should have
Fitting the Soundbar

What you should have

• Soundbar 

• Mounting bracket

• 2 x M4 screws and nuts

• 2 x #8 self tapping screws 

• 2 x Connecting cables

• Philips-head screwdriver (not supplied)

Where to fit the Soundbar

The Soundbar box can be fitted to the lower or upper edge of the panel.

Installing it on the upper edge is unconventional but will allow the sound to project further in a 

classroom, for example.

How to fit the bracket

The edge of the bracket with the six holes is a press-fit between the back cover and the aluminium 

surround. The six holes allow the same bracket to be fitted to 60”, 75” and 85” models.

Remove two M4 screws under the bottom (or top) edge as shown.

Fitting the Soundbar

What you should have

• Soundbar 

• Mounting bracket

• 2 x M4 screws and nuts

• 2 x #8 self tapping screws 

• 2 x Connecting cables

• Philips-head screwdriver (not supplied)

Where to fit the Soundbar

The Soundbar box can be fitted to the lower or upper edge of the panel.

Installing it on the upper edge is unconventional but will allow the sound to project further in a 

classroom, for example.

How to fit the bracket

The edge of the bracket with the six holes is a press-fit between the back cover and the aluminium 

surround. The six holes allow the same bracket to be fitted to 60”, 75” and 85” models.

Remove two M4 screws under the bottom (or top) edge as shown.

• Soundbar 

• Mounting bracket 

• 2 x M4 screws and nuts 

• 2 x #8 self tapping screws 

• 2 x Connecting cables 

• Philips-head screwdriver (not supplied)

Where to fit the Soundbar
The Soundbar box can be fitted to the lower or upper edge of the panel. 

Installing it on the upper edge is unconventional but will allow the sound to project 

further in a classroom, for example.

How to fit the bracket
The edge of the bracket with the six holes is a press-fit between the back cover and the 

aluminium surround. The six holes allow the same bracket to be fitted to 60”, 75” and 85” 

models.

Remove two M4 screws under the bottom (or top) edge as shown.

Fitting the Soundbar

Fitting the Soundbar to the bracket and connecting it to the panel

Starting with a corner, force the lip of the mounting bracket into 

the gap  where the back cover meets the aluminium extrusion that 

forms the surround – see the diagram, which is a view from the 

side. 

It takes about 5 or 10 Kg of force but you will be able to press it in 

about 10mm, into the same gap as the back cover. The edge of the 

back cover will flex slightly to allow this to happen.

Tap the end of the bracket to slide it along so that the holes in the 

extrusion line up with the holes in the lip on the bracket.

Fit the M4 screws removed in the first step. Tighten firmly, but do 

not over-tighten as you could strip the internal thread in the panel. 

If this happens, use the supplied 8# self-tappers to replace them.

Fit the heads of the supplied M4 screws to the keyhole 

slots in the soundbar fixing feet.

Pass the threaded ends of the screws through the 

matching holes in the mounting bracket and fit the two 

M4 nuts. 

Tighten the nuts so that the edge of the soundbar 

engages with the groove in the panel's surround.

Using the supplied cables, connect the soundbar to the 

SPEAKER OUT terminals on the panel.

Fitting the Soundbar

Fitting the Soundbar to the bracket and connecting it to the panel

Starting with a corner, force the lip of the mounting bracket into 

the gap  where the back cover meets the aluminium extrusion that 

forms the surround – see the diagram, which is a view from the 

side. 

It takes about 5 or 10 Kg of force but you will be able to press it in 

about 10mm, into the same gap as the back cover. The edge of the 

back cover will flex slightly to allow this to happen.

Tap the end of the bracket to slide it along so that the holes in the 

extrusion line up with the holes in the lip on the bracket.

Fit the M4 screws removed in the first step. Tighten firmly, but do 

not over-tighten as you could strip the internal thread in the panel. 

If this happens, use the supplied 8# self-tappers to replace them.

Fit the heads of the supplied M4 screws to the keyhole 

slots in the soundbar fixing feet.

Pass the threaded ends of the screws through the 

matching holes in the mounting bracket and fit the two 

M4 nuts. 

Tighten the nuts so that the edge of the soundbar 

engages with the groove in the panel's surround.

Using the supplied cables, connect the soundbar to the 

SPEAKER OUT terminals on the panel.

a view from the side.

It takes about 5 or 10 Kg of force but you will be able to press 

it in about 10mm, into the same gap as the back cover. The 

edge of the back cover will flex slightly to allow this to happen.

Tap the end of the bracket to slide it along so that the holes in 

the extrusion line up with the holes in the lip on the bracket.

Fit the M4 screws removed in the first step. Tighten firmly, but 

do not over-tighten as you could strip the internal thread in the 

panel.

If this happens, use the supplied 8# self-tappers to replace 

them.

Starting with a corner, force the lip of the mounting bracket into the gap where the back 

cover meets the aluminium extrusion that forms the surround – see the diagram, which is 

Fitting the Soundbar to the bracket and  
connecting it to the panel

Fit the heads of the supplied M4 screws to the keyhole 

slots in the soundbar fixing feet.

Pass the threaded ends of the screws through the 

matching holes in the mounting bracket and fit the two 

M4 nuts.

Tighten the nuts so that the edge of the soundbar 

engages with the groove in the panel’s surround.

Using the supplied cables, connect the soundbar to the 

SPEAKER OUT terminals on the panel.

Phone: 1300 766 997    Fax: 1300 768 997    www.kookaburra.com.au



 

Phone: 1300 766 997    Fax: 1300 768 997    www.kookaburra.com.auKookaburra
Educational Resources


